3. 2 + o § A ARA 2
(A) S g (B) T |
(©) gfx wfe (D) T &FE

4. ‘STOTE B RoEE TR E P
(A) =T |

il




%j) oy e
%sa Raa’” &= geapy s

14, “S‘f’l?f'f}.,a?%:

15. éﬂzﬁmmﬁaﬂ’waﬁ

(A) Gﬁﬁmﬁwmmmam
(B) Brer-agr gy
AC) S qer Az
(D) feRem & »
16. 93T N = R wwr & g 7
(A) efepep Tepa
£B) IR e
(C) Tifer
(D) Hr%a

_— ””_ﬁ W%.

- (C) Tram ) %

ot e g @

(A) famg wwre

(B) efegee wHTH
(C) aterfiarg HIH
% (D) =geife ward
‘Fﬂ?: H ST & T SugeHT T
(A) ST e (fi),\‘ﬂavm
(C) F=areT (D) HronfT
21, q‘aﬁ_asr af~e fa=ig 2
(A) 58 + ==y
AB) HETT + =
(C) Her + =y
(D) #HiE + =fy
22 g e pol Enar = B :
AA) TFEE (B) g
(© ¢ (D) HeaTas

[23) PO F Y T vz B

- P~ s | ,
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- E (&
?;::ec;i::n; n(Q. No. 26 to 31) : Chooge thBNGLISH —
the giver, alte:mvf:; :the underlined ‘wcrds from 33 The tiger was killed ..., the hunter
(A) with
. 26. PROHIBIT : AB) by
(A) Allow (B) Grant (C) at
~C) Ban (D) Sanction (D) of
27. REGRET: /ﬁ He is weak ...... chemistry,
@A) Happy (B) Bloom : (A) at
(C) Reproduce (DY” Repent _B) in
28. WHIMSICAL \ (C) with
(A) Amusing (B) Sad (D) into
' B (C) Sorrow (D) Mad ' :
= el i ¢ - Choose the right sentence :
28. ME-&AMI : ' : _ /;?jf:\} Kalidas is the Shakespeare of India.
@ l.hjfermingle (B) Indifferent (B) Thé Kalidas is Shakespeare of India.
; "fq) 'P‘"f i (D) Transmit | ~ (C) The Kalidas is the Shakespeare of
30 OBSTINATE: I8 ' L e ? g %
| (A) . ‘ ®) Stubbo_m\‘ (D) :-:‘_adl:das isf the Shakespeare of the ?}
e (e, 1;?@""'f|ete S SE) Old fashioned - . | :
T g - e ' 36 'We reached safe and sound.' Which part
1 RDINAL : : : of speech 'sound' is ?
- (E;) Cardlac : : (A) Noun | (B) Adverb
A I (C) Adjective (E) None of these
| Choose the correct gender of Fox
(5 (feminine) : |
A Ox (6 Vien
(C) Wasp (D) Boar

387 Young one of 'sheep' :
(A) Cub (8) Lamb
(C) Calf ¥ (D) Foal

P.T.O.




C

6 7
Direction ' (Q : e following .
" ™. No. 39 & 40) : In the . vaol g the giy
Questiong chooseotli1 alternative which best a6 Choose the correct article from given
SXPresses the Meaning of the given word alternatives =
h Heis ... one-eyed person
39, Vocahon (AN an (B) a -~
(A) H()h(]‘ay (B) Break up (©) the /FD) None of these
(C) Occupation (D) Virtue
47. Choose the correct synonym of ‘Audacity’ -
40. Imperioys e
) & . (A) Alertness (B) Timidity
! Froud B) emper
. ( _ ( Humility (J2) Boldness ~
(C) Tamper §0) Distant E/>>
_— 487 C the correct antonym of 'Malice' -
Direction * (Q. No. 41 to 44) : Choose the hegse _ B) I-Wil
correct determiner from the given option - AA) Goodwill ( :
. (C) Spite (D) Hate
41. 'She will Uisiin.;
I"have been Served food' js in Direction - Q. No. 49 & 50) : Choose the _
(A) Past perfect tense correct option of indirect form of speech :
/BJ Future perfect continuous tense ;
49. The teacher said to the students, "Let ys
(C) Future indefinite tense start a new lesson. "
(D) Future perfect tense (A) The teacher asked the students to
i start a new lesson.
42. This lessonis .. difficult.
/(A /(B) The teacher Suggested to the .
A) too &8) very students to start a new lesson.
the little D) much
(C) the litt (D) muc (C) The teacher Suggested tp the
43. 'Aword or law ho longer in use' is calleq - students that he should start a new
lesson.
A) cynic (B) out-dated'
( (D) The teacher Suggested to the -
(C) reticent (D) obsolete students that they should start a new
lesson,
44. | love my books so Mmuch so that | cannot
Pt e e, 50. He said to his teache "Good night, sir."
(A) from (B) with #7) He wished hig teacher goog night sir.
(C) by (D) without AB) He respectiuyly Wished his teacher ]
good night, ."e\‘
the word that js spelt corr, X '
45. Choose If el oatly (C) He respectfully pigs his teacher good |
from the given alternatives - night,
o Deceive (B) Decieve (D) He  respectfully paqe his teacher
(C) Diceive (D) Dicieive good night, - AT
- . A ll'lj ) |
19 : ‘ ' ' |

. ) o !E g 7-[}.‘. L




MATHEMATICS
S i T
%‘fﬁ 567567567 @ 567 AT fegy
. m, Eﬁ' ‘J:n-;-l-qj—(‘_-r Fﬁ—rn- . 51.
d (A) 111 (8) 10101
i —~C) 1001001 (D) 301
i /5{ I® T B W S ity St
' S 9 ST 10w F R g | X
i Sl
[l £ 900 (B) 400
(C) 490 (6) 360
55 (7)—-——’? 53,
147 ' 43
(A) o ({) —
© <= o 15 L
f(Sp q rs)x(—4p qr )x(?p{;r) EEEES 54.
®) 84p%°° (g 84p6q5r5 |
(C) —84p°g°%*® - #) -84p°q°r |
_/5((—1)"”"" T B | s
' | ' P
R LU OB
() 1000 (D) —ww i

A -
~ (C) 1000

If 567567567 is divided by 567, then the

quotient will be :
(A) 111 (B) 10101

(C) 1001001 (D) 301

Find the smallest square number which is
exactly divisible by 4, 9 and 10 -

(A) 900 (B) 400
(C) 490 (D) 360
21
Al )
=7 13
147 =13
Ay =t By =2 .
B = B —=
14-7 13
Cc) —~ (D) =
(C) 13 (D) 3
(30%q r®)x(~4p3q r2)x(7pg®r) s
~equalto: e
(A) 84p°5r®  (B) 84p8g5/S
(C) —-84p°¢%r® (D) —84p8q5/S

Thtel':i)alue of (~1)'0% s .

(Bf 1

_(D)_ -1000

"
erence of the base of a right
__:der iS 44 cm and its height is
1 volume (in cm®) of the




8
57. an . -
S g 240 Hlo = W U+ 7. If a train 240 m long passes a poe in 16
= 16 gzpvs I 9T T 4T g, the speed of the train js -
& - X Seconds, then
S Yt o ELSIE- 2 |
(©) 60 fgy,, v, (D) 72 Feﬁ:ﬁo/Efi (©) 60 km/h (D) 72 kmih
.
o e Xz&% %8. If 56-45+x =17, then x = 2
ﬂ) 36 (B) 25 /,—E\/\Lo (A) 36 (B) 25 =
N AV
(C) 16 (D) 9 (C) 16 (D) 9
kA 9% IS 3750 hotfio =5 g 25 39. A train cover a distance of 3750 km in 25
B ] SE GG %, ar REH s hours, how much average distance the -
w Ea) anﬁff ag Egﬁ feperr Same train will cover in one hour ?
B8R 7 o
- 3’15
(A) 140 Fhotfio 9‘g| (A) 140 km
(B) 175 Rporfio (B) 175 km
AC) 150 fpordio (C) 150 km
(D) 130 fFporfio (D) 130 km
80. us g g5 STETET 5000 & aie 2% - 60. The population of 5 village is 5000 ang it
B ITX F ax T Fgedt B gy Increases at the rate 29, every year. After k.
S 16T+ srmardt Snfy » 2 years the population wij be :
(A) 5108 (B) 5200 ~ (A) 5108 (B) 5200
: \}6)/ 5202 (D) 5300 -(C) 5202 = (D) 5300 A
- (127 _ . ' 127
1. : : The cube root of 1.127 is
_/6/121655“?':“33% | Sy 216~ |
w8 i - mw e N (g =L '
w7 e TS

/6) 131_ ©) =% & 9 78 | N (©) M"””'f‘ese




Y i
2— &Y Brf%ram i %ﬁgq

S 63, Write 2% in percent :

| (A) 35% AB) 350% |
| e e ws% - (B) 350%
(C) 3.59 3509 N
| (D) 0.35% | e o,
E)Tx 4 3 T 57
4 W oy 64. (g] x(iJ =7
2 4 3
1 . i
AN (B) 0 e )0
13 (B)=t ©) 14 - (D) 1

65. Arjun is twice a old as Shreya. Fivé’years
ago his age was three times Shreya's
age. Find their present ages :

(A) 10 EPS? 12 95 . - (A) 10years, 12 years
1 (B) 5 g9, 10 9 | . (B) 5years, 10 years
(C) 15 a¥, 30 ay : : (C) 15 years, 30 years
(D) 12 99, 24 g - (D) 12 years, 24 years
1 s 51 ' - 1dois m Vay
- 5+ S B AN 2 : | 66. Thevalue of 5 + : i
\/ 100 7000 *10000 T T & ¢ | e oS00 T 7000 T 70000
(A) 5.1551 (B) 5.0151 (A) 5.1551 (B) 5.0151

(D) 8.01201 . | (C) 5.0201 (D) 5.01201

/ef 5.0201
; W‘l ..‘-. ! l‘.‘ -

67. If the radius of a sphere is _250_' thén its

volume'is "
3 23 g
et .\ —nd
(A) 81 'n:d (B) n n
(D) %nda

. (BLRs 6000

(D) Rs. 9000
P.T.O.



& 6

C
- <o 1&
\/634@?'” 2%11,%20/ 52" 47, . 86 &

(A) B0 /gs) 65

(C) 53 (D) 62

X

8, & g T a9 &
(A) B0 150,000
(B) %o 160,000
~AC) Bo 140,000
(D) ®o 145,000

-4.6,12,153533?11?@%?735
(E‘TOF{OE[O):?

ﬁ) 180 AB) 60
(C) 72 (D) 120

(B) 24
(D) 375 & o 5

/@./er%g?raﬁrtrﬁ‘r@rwzaorﬁo@ga
S I N ST =7 2y 2

) 1386 T Fowio 4\)3’3//
) 1386 Foxfo ;p?’
(C) 1486 & Forfro %
(D) 1320 &t Forfo
/44.) 5o 1000 X 10% a1ffs =% 3 ,
T BT Tehgfes se7 ¢

69.

w

71,

72.

73.

= ‘

10
| 11

Find the missing Number in the series
2,511,20,32,47, ... 86 :
(A) 60 (B) 65
(C) 58 (D) 62 76.
A man got 10% increase in his salary. | o~
his new salary is Rs 1,54,000, then
original salary is :

TTE

(A) Rs. 1,50,000
(B) Rs. 1,60,000
(C) Rs. 1,40,000
(D) Rs. 1,45,000

L.CM.of 4,6, 12, 15= 7

(A) 180 (B) 60
(C) 72 (D) 120

20« 30‘x 4% — 7

(A) 1 (B) 24

(C) o (D) None of these \}e/
If the circumference of a circle is 132 ¢m,

the area of circle js - .

(A) 1386 cm? '

(B) I1'3."86 cm w_ 3 L_ - 80.
(C) 1486 cm? 7 5 |

(D) 1320 cm? N

10% per annum for 2 years is :

‘R L
~ The compound interest on Rs. 1000 at

'y i




e 5 Karcham Hydre :lﬂ_éwgr_'ijem
i G _‘ I8 located on which rjyer 72 :

is the longest tunm
enani-Nashri
Wahar

lour of l=aves

oard

he first train started in India >
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7 =

C 1
| , 13
82 syryey =1 -7 T ‘fefed o=/™@r 82. Which place of India is known as Lt
FHEdTar B 7 Lhasa' ? /96
(A) gt (B) ifey (A) Rewalsar (B) Spiti
v(fé) Se=BISI] (D) fep=~iIT (C) Dharamshala (D) Kinnaur
83. ?:REW A H AR Bl L= 83. Who composed the grammar of Sanskrit
fa;(ﬁ Eﬁr % ? Language ?
) e (B) gerdiaTy (A) Valmiki (B) Tulsidas
(C) rfer (D) “rfereTH (C) Panini (D) Kalidas é
A=h % HT 8 7 84. Whatis dry ice ?
(A) o1 ARSI (A) Solid Oxygen
(B) X BT (B) Solid Nitrogen
(C) BT FHIE= SRATFAZS (&7 Solid Carbon dioxide (
' [
(D) S TThT (D) Solid Sulphur
85, - YA Sfig g, S eft 98 85. Name the creature which is not a bird, byt
By off Gear & 7 | can fly :
(A) Woodpecker (B) Owl
3 [
(C) Ostrich (D) Bat

86. Which planet is the hottest planet of the
solar system ?

(A) Mercury (B) Venus
(C) Jupiter (D) Saturn

-

-\‘

87 What was the Shivalik mountain known (
as In ancient texts ? e
A) Mainak Paryat (B) Dhauladhar b
(C) Peer Papjal (D) Jaskar

o gb: ] g rfBﬁ When is the w,oﬁd watérday celebrated 7

A 22 g £ " T ; (A) 22 March 'l | " i B







T AN VI

~—

E QR = 3 =

C
qua:f—ﬁa%‘rﬂﬁr@ SAS IR
‘ T 87
(A g T .
(B)@gaﬂﬁ
(C) SqmIE™
\j/D)Iﬁﬂ?W
C AT o gwl i o
n@%ﬁ%:
(A) @qTeY Tt (B) ST &
) ST Fh (D) SR =
@{ﬁﬁ ARRAAE | (T —
PET & 7
(A) 359
(B) Sfesy \
(C) He
D) &7 3 i a5
98. aﬁ%ﬁ%wwmmﬁsm
@?fﬂ%ﬁmﬁ‘@waﬁaﬁﬁm%?
A) s |
- AB) Hiawr -
) sﬂﬁﬁaaéﬁzﬁ

99 WY oy g FRT 2

T T~vaiL.UF HP.
o “NGLES, sQuares anp CIRCLES aRE TO BE FILLED Iy i/ BALL POINT PEN.

— |

95,

96.

97.

98_-

I

15
What js the 'ongest part of hym,
da

digestive 5ysterrT ?
(A9 Large intestine

(B) Small intestine

(C) stomach

(D) Rectum

'Kufri Jeevan' and 'Kufri Jyoti' are A

famous varieties of :
(B) Almond

(D) Grapes

(A) Tomato
(C) Potato

b

What is the outermost layer of the teeth
called ?

(A) Enamel
(B) Dentin
(C) Cement |
(D) None of thesé‘

Which feature of food js identified by the

red and brown mark made on the food
packets ? _

(A) Vegetarian
(B) Non-Vegetarian y

~(C) Végetar‘ian & Non~Vegétaﬁan

(D) None of these =




